
Figure 1 Zambia 
[image: image1.emf]. restore

. lorenz graph, overlay aspectratio(1) xlabel(, grid)

                                                              

         100            1          .             .           .

          95     1.109791   .0053662      1.099272     1.12031

          90     1.132419    .007631       1.11746    1.147377

          85     1.125461   .0086964      1.108415    1.142508

          80     1.102159   .0092886      1.083951    1.120366

          75     1.067323   .0095679      1.048568    1.086078

          70     1.024318   .0095544      1.005589    1.043046

          65     .9750153   .0093683      .9566516    .9933791

          60     .9205285   .0090794      .9027311    .9383259

          55     .8613245   .0086855      .8442992    .8783499

          50      .798318   .0081815      .7822807    .8143553

          45     .7319649   .0076159      .7170361    .7468937

          40     .6624966   .0069703      .6488335    .6761598

          35     .5901264   .0062935      .5777898    .6024631

          30     .5146525   .0055651      .5037437    .5255612

          25     .4361788   .0047701      .4268284    .4455293

          20     .3550413   .0039193      .3473586    .3627239

          15     .2709988   .0030278      .2650637    .2769339

          10     .1839743   .0020793      .1798984    .1880502

           5     .0941411   .0010752      .0920335    .0962487

           0            0  (omitted)

1             

                                                              

         100            1          .             .           .

          95     .8283906   .0034739       .821581    .8352001

          90     .6946484   .0053607      .6841403    .7051564

          85     .5788661   .0068184      .5655007    .5922316

          80     .4757362   .0079337      .4601845    .4912878

          75     .3839212   .0089131      .3664497    .4013927

          70     .3002537   .0095969      .2814418    .3190655

          65     .2246552   .0101499      .2047594     .244551

          60     .1556846   .0106769      .1347557    .1766136

          55      .094125    .010688      .0731744    .1150755

          50      .040535   .0106463      .0196661    .0614039

          45    -.0056375   .0104258     -.0260741    .0147991

          40    -.0436932   .0098453     -.0629919   -.0243944

          35    -.0733256   .0092083     -.0913756   -.0552755

          30    -.0948415   .0083287     -.1111675   -.0785155

          25     -.106642   .0072286     -.1208115   -.0924726

          20    -.1087419   .0058888     -.1202852   -.0971986

          15    -.0997347   .0043651     -.1082911   -.0911783

          10    -.0790645   .0028849     -.0847194   -.0734096

           5    -.0465827    .001395     -.0493172   -.0438482

           0            0  (omitted)

0             

                                                              

        v191        Coef.   Std. Err.     [95% Conf. Interval]

                                                              

            1: place_residence = Rural

            0: place_residence = Urban

L(p)                              Number of obs   =      9,959

. lorenz estimate v191 , over(place_residence) 

(Note: Std. error adjusted for 545 clusters in v021)

                                                                               

Erreygers norm. CI   9842          .19431063    .01896299             0.0000   

                                                                               

Index:               No. of obs.   Index value   Robust std. error   p-value   

                                                                               

. conindex PLD_Grouped [aw=wt0_9], rankvar(v191) bounded limits(0 1) erreygers cluster(v021)

(113,833 observations deleted)

. drop if cry !=9

. preserve

. do "C:\Users\d\AppData\Local\Temp\STD00000000.tmp"

end of do-file

. 

. restore

                                                                                 

Diff. = .06422308    Std. err. = .02920409   z-stat =    2.20  p-value =  0.0279 

                                                                                 

Test for stat. significant differences with Ho: diff=0 (large sample assumed)

                                        

F-stat = 74.451056   p-value=  0.0000   

                                        

Test for stat. significant differences with Ho: diff=0 (assuming equal variances)

(Note: Std. error adjusted for 347 clusters in v021)

                                                                               

Erreygers norm. CI   6870          .13859555    .02122412             0.0000   

                                                                               

Index:               No. of obs.   Index value   Robust std. error   p-value   

                                                                               

CI for group 2: place_residence = 1

(Note: Std. error adjusted for 198 clusters in v021)

                                                                               

Erreygers norm. CI   2972          .07437247    .0200603              0.0003   

                                                                               

Index:               No. of obs.   Index value   Robust std. error   p-value   

                                                                               

CI for group 1: place_residence = 0

For groups:

(Note: Std. error adjusted for 545 clusters in v021)

                                                                               

Erreygers norm. CI   9842          .19431063    .01896299             0.0000   

                                                                               

Index:               No. of obs.   Index value   Robust std. error   p-value   

                                                                               

. conindex  PLD_Grouped  [aw=wt0_9], rankvar(v191)  bounded limits(0 1) erreygers cluster(v021) compare(place_residence)

(113,833 observations deleted)

. drop if cry !=9
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Figure 2 Malawi  

[image: image3.emf]. restore

. lorenz graph, overlay aspectratio(1) xlabel(, grid)

                                                              

         100            1          .             .           .

          95     1.212453   .0063771      1.199953    1.224952

          90     1.304491   .0098177      1.285247    1.323735

          85      1.34506   .0121514      1.321242    1.368878

          80     1.352402   .0135158      1.325909    1.378894

          75     1.338227   .0142663      1.310264     1.36619

          70     1.307659   .0146375      1.278968     1.33635

          65      1.26304    .014712      1.234203    1.291877

          60     1.206925   .0144561      1.178589     1.23526

          55     1.141689   .0139717      1.114303    1.169075

          50       1.0686   .0133238      1.042484    1.094716

          45     .9884479   .0125429      .9638625    1.013033

          40     .9014752   .0116044      .8787294     .924221

          35     .8083017   .0105552      .7876125     .828991

          30     .7092019   .0093628      .6908498    .7275539

          25     .6045737   .0080773      .5887414     .620406

          20     .4947055   .0066696      .4816323    .5077786

          15     .3801031    .005167      .3699753    .3902309

          10     .2601308   .0035674      .2531383    .2671233

           5     .1345558   .0018623      .1309054    .1382061

           0            0  (omitted)

1             

                                                              

         100            1          .             .           .

          95     .8451891   .0029184      .8394687    .8509094

          90     .7125872   .0049986      .7027895    .7223849

          85      .596483   .0065938      .5835585    .6094075

          80     .4919039   .0079548      .4763117    .5074961

          75     .3964114   .0089358      .3788963    .4139265

          70     .3096318   .0097067      .2906056    .3286579

          65     .2313057   .0102143      .2112847    .2513268

          60     .1619613   .0102084      .1419518    .1819708

          55      .102146   .0101087      .0823319    .1219602

          50     .0507942   .0099344      .0313218    .0702665

          45     .0070831   .0097017     -.0119333    .0260995

          40    -.0292749   .0091139      -.047139   -.0114107

          35    -.0576481    .008473      -.074256   -.0410402

          30    -.0783923    .007708     -.0935008   -.0632838

          25    -.0910412   .0065968     -.1039716   -.0781107

          20    -.0935804    .005238     -.1038475   -.0833133

          15    -.0861229   .0039539      -.093873   -.0783728

          10    -.0688256   .0026414      -.074003   -.0636483

           5    -.0407091   .0012744     -.0432071   -.0382112

           0            0  (omitted)

0             

                                                              

        v191        Coef.   Std. Err.     [95% Conf. Interval]

                                                              

            1: place_residence = Rural

            0: place_residence = Urban

L(p)                              Number of obs   =     17,286

. lorenz estimate v191 , over(place_residence) 

(Note: Std. error adjusted for 850 clusters in v021)

                                                                               

Erreygers norm. CI   17045         .05576412    .00758057             0.0000   

                                                                               

Index:               No. of obs.   Index value   Robust std. error   p-value   

                                                                               

. conindex PLD_Grouped [aw=wt0_9], rankvar(v191) bounded limits(0 1) erreygers cluster(v021)

(106,506 observations deleted)

. drop if cry !=3

. preserve

. do "C:\Users\d\AppData\Local\Temp\STD00000000.tmp"

end of do-file

. 

. restore

                                                                                 

Diff. = -.02052364   Std. err. = .02198281   z-stat =   -0.93  p-value =  0.3505 

                                                                                 

Test for stat. significant differences with Ho: diff=0 (large sample assumed)

                                        

F-stat = 661.16194   p-value=  0.0000   

                                        

Test for stat. significant differences with Ho: diff=0 (assuming equal variances)

(Note: Std. error adjusted for 677 clusters in v021)

                                                                               

Erreygers norm. CI   14293         .03828608    .00852126             0.0000   

                                                                               

Index:               No. of obs.   Index value   Robust std. error   p-value   

                                                                               

CI for group 2: place_residence = 1

(Note: Std. error adjusted for 173 clusters in v021)

                                                                               

Erreygers norm. CI   2752          .05880971    .02026406             0.0042   

                                                                               

Index:               No. of obs.   Index value   Robust std. error   p-value   

                                                                               

CI for group 1: place_residence = 0

For groups:

(Note: Std. error adjusted for 850 clusters in v021)

                                                                               

Erreygers norm. CI   17045         .05576412    .00758057             0.0000   

                                                                               

Index:               No. of obs.   Index value   Robust std. error   p-value   

                                                                               

. conindex  PLD_Grouped  [aw=wt0_9], rankvar(v191)  bounded limits(0 1) erreygers cluster(v021) compare(place_residence)

(106,506 observations deleted)

. drop if cry !=3

. preserve
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